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Seat No.: ________                                                           Enrolment No._______ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II (CtoD) • EXAMINATION – SUMMER • 2014 

 

Subject Code: C322401 Date: 26-06-2014        

Subject Name: Basic Electronic Circuits 

Time: 10:30 am - 12:00 pm     Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 

No. Question Text and Option 

1. 

When a diode is forward biased, 

A. the anode is negative with respect to 

the cathode 

B. the cathode is positive with respect to the 

anode 

C. the anode is positive with respect to 

the cathode 
D. 

none of these 

2. 

The voltage drop across a forward-conducting silicon diode is approximately 

A. 0.25 V B. 1.0 V 

C. 0.5 V D. 0.7 V 

3. 

A diode clamper will 

A. clip off a portion of the input signal B. eliminate the positive or negative 

alternation of a signal 

C. add an AC voltage to a signal D. add a DC voltage to a signal 

4. 

A diode for which you can change the reverse bias, and thus vary the capacitance, is called a 

A. tunnel diode B. varactor diode 

C. zener diode D. switching diode 

5. 

What is created when an electron moves from the valence band to the conduction band? 

A. A vacancy B. A gap 

C. A hole D. A blank 

6. 

The boundary between P-type material and N-type material is called: 

A. a diode B. a reverse biased diode 

C. a P-N junction D. a forward biased diode 

7. 

The schematic symbols for an LED and a photodiode 

A. are the same except the arrows 

point in different directions 

B. are exactly the same 

C. bear no resemblance to one another D. none of these 

8. 

In a bridge rectifier circuit, how many diodes are conducting during a given alternation of the 

input ac waveform? 

A. One B. Three 

C. Two D. All four 

9. 

In a full-wave rectifier without filter, the ripple factor is 

A. 0.482 B. 1.21 

C. 0.89 D. 0.26 

10. 

Transistor is a 

A. Current controlled current device B. Current controlled voltage device 

C. Voltage controlled current device D. Voltage controlled voltage device 

11. 

A zener diode 

A. Has a high forward voltage rating B. Has a negative resistance 

C. Has a sharp breakdown at low 

reverse voltage 

D. Is useful as an amplifier. 
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12. 

A semiconductor is formed by which bonds? 

A. Covalent B. Electrovalent 

C. Co ordinate D. None of the above 

13. 

Semiconductor has generally _____ valance electrons. 

A. 1 B. 4 

C. 3 D. 2 

14. 

A pentavalent impurity has _____ valence electrons. 

A. 3 B. 6 

C. 5 D. 7 

15. 

The leakage current across a PN junction is due to  

A. Minority careers  B. Majority careers 

C. Junction capacitance D. None of the above 

16. 

A zener diode is used as  

A. An amplifier B. A voltage regulator 

C. A rectifier D. A multivibrator  

17. 

There is a need of transformer for 

A. Half wave rectifier B. Centre tapped full wave rectifier 

C. Bridge rectifier D. None of the above 

18. 

The maximum efficiency of the half wave rectifier is  

A. 40.6% B. 81.2% 

C. 50% D. 25% 

19. 

A PN junction that radiates energy as light instead of as heat is called a  

A. LED B. Photo diode 

C. Photo cell D. Zener diode 

20. 

A photo diode is normally 

A. Forward biased B. Reverse biased 

C. Neither forward nor reverse biased D. Emitting light 

21. 

When the light increases, the reverse current in a photo diode 

A. increases B. Decreases 

C. Is unaffected D. None of the above 

22. 

A transistor has  

A. One PN junction B. Two PN junction 

C. Three PN junction D. Four PN junction 

23. 

A number of depletion layer in a transistor is  

A. Three B. Four 

C. Two  D. One  

24. 

In a PNP transistor the current carriers are 

A. Acceptor ions B. Donor ions 

C. Holes D. Free electrons  

25. 

The emitter of a transistor is  

A. Lightly doped B. Heavily doped  

C. Moderately C. None of the above 

26. 

In a transistor  

A. IC=IE + IB B. IB=IC + IE 

C. IE=IC - IB D. IE=IC + IB 

27. 

In a transistor, IC= 100 mA and IE = 100.5 mA. The value of β is 

A. 100 B. 100.5 

C. About 1 D. 200 

28. 

The most commonly used transistor arrangement is  

A. Common emitter B. Common base 

C. Common collector D. None of above 

29. 

If the value of α is 0.9 then the value of β is  

A. 9 B. 0.99 

C. 99 D. 90 
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30. 

A heat sink is generally used with transistor to  

A. Increase forward current B. Decrease the forward current 

C. Compensate for doping D. Prevent excessive temperature rise 

31. 

Transistor bias represents which conditions? 

A. DC B. AC 

C. Both AC and DC D. None of the above 

32. 

The point of intersection of DC and AC load lines represents 

A. Operating point B. Current gain 

C. Voltage gain D. None of the above 

33. 

An ideal value of stability factor is  

A. 10 B. 1 

C. 1000 D. 100 

34. 

The operating point in transistor is also called 

A. Quiescent point B. Saturation point 

C. Cut off point D. None of the above 

35. 

Thermal runaway occurs when 

A. Collector is reverse biased B. Transistor is not biased 

C. Emitter is forward biased D. Junction capacitance is high 

36. 

For silicon transistor amplifier VCE value for faithful amplification is  

A. 0.2V B. 0V 

C. Not below 0.7V D. None of the above 

37. 

The most commonly used semiconductor is 

A. Germanium B. Silicon 

C. Carbon D. Sulphur 

38. 

A semiconductor has generally no of valance electron is  

A. 2 B. 3 

C. 4 D. 5 

39. 

When a pentavalent impurity is added to a pure semiconductor it becomes 

A. An insulator B. An intrinsic semiconductor 

C. P type semiconductor D. N type semiconductor 

40. 

The leakage current in a PN junction is of the order of  

A. A B. uA  

C. kA D. mA 

41. 

A leakage current across a PN junction is due to  

A. Minority carriers B. Majority carriers 

C. Junction capacitance D. None of the above 

42. 

With forward bias to a PN junction the width of depletion layer 

A. Increases B. Decreases 

C. Will be constant D. None of the above 

43. 

In an intrinsic semiconductor the number of free electrons 

A. Equals the number of holes B. Is greater than the number of holes 

C. Is less than the number of holes D. None of the above 

44. 

At room temperature, an intrinsic semiconductor has 

A. Many holes only B. A few free electrons and holes 

C. Many free electrons only D. No holes or free electrons 

45. 

A reverse bias PN junction has resistance in order of the  

A. MΩ B. KΩ 

C. Ω D. None of the above 

46. 

A zener diode is destroyed if it  

A. Is forward biased B. Is reverse biased 

C. Carries more than rated current  D. None of the above 

47. 

A series resistance is connected in the zener circuit to  

A. Protect the zener  B. Properly reverse bias the zener 

C. Properly forward bias the zener D. None of the above 
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48. 

A zener dode has breakdown voltage 

A. Defined B. Undefined 

C. Zero  D. Infinite 

49. 

To display the digit 0 in a seven segment display  

A. G must be on B. F must be off 

C. All segment except G should be 

lighted 

D. A must be lighted 

50. 

A base of the transistor is 

A. Heavily doped B. Moderately doped 

C. Lightly doped D. None of the above 

51. 

The emitter of the transistor is  

A. Heavily doped B. Moderately doped 

C. Lightly doped D. None of the above 

52. 

The input impedance of a transistor is  

A. High B. Low 

C. Very high D. Zero 

53. 

The value of α of a transistor is  

A. More than 1 B. Less than 1 

C. 1 D. None of the above 

54. 

The output impedance of a transistor is 

A. High B. Low 

C. Very high D. Zero 

55. 

IC= α*IE+…………… 

A. IB B. ICEO 

C. ICBO D. βIB 

56. 

The value of β for the transistor is generally 

A. Between 20 to 500 B. Below 10 

C. 1 D. 0 

57. 

IC= βIB+ 

A. IB B. ICEO 

C. ICBO D. βIB 

58. 

ICEO=(………) ICBO 

A. β B. 1+α 

C. 1+β D. None of the above 

59. 

In a transistor signal is transferred from  

A. Low resistance to high resistance B. High resistance to low resistance 

C. High resistance to high 

resistance 

D. Low resistance to low resistance 

60. 

The arrow in the symbol of transistor indicates the direction of  

A. Electron current in emitter B. Electron current in collector 

C. Hole current in emitter D. None of the above 

61. 

The collector base junction in a transistor has 

A. Low resistance B. Reverse bias at all times 

C. Forward bias at all times D. None of the above 

62. 

If biasing is not done in an amplifier circuit it results in  

A. Decrease in base current  B. Unfaithful amplification  

C. Excessive collector bias D. None of the above 

63. 

Transistor biasing is generally provided by  

A. Biasing circuit B. Battery 

C. Zener D. LED 

64. 

The disadvantage of voltage divider bias is that it has 

A. Many resistors B. High stability 

C. Low base current D. None of the above 
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65. 

For germanium transistor amplifier VCE for faithful amplification should be  

A. 0 B. 0.2V 

C. Not below 0.7V D. None of the aboe 

66. 

If the temperature increases the value of VBE  

A. Increases B. Decreases 

C. Remains the same D. None of the above 

67. 

The value of VBE  

A. Depends upon IC to moderate 

extent 

B. Is almost independent of IC 

C. Is strongly dependent on IC D. None of the above 

68. 

In a practical biasing circuit, the value of RE is about 

A. 800Ω B. 1M Ω 

C. 10K Ω D. 100K Ω 

69. 

A transistor is ………….. operated device 

A. Current  B. Voltage 

C. Both current and voltage D. None of the above 

70. 

In NPN transistor minority carriers are 

A. Electrons B. Holes 

C. Donor ions D. Acceptor ions 

 

************** 

ગજુયાતી 
ન.ં પ્રશ્ન તેભજ વલકલ્઩ 

1. 

જ્માયે ડામોડ પોયલડડ ફામસ ભા હોમ ત્માયે,   
A.  એનોડ નેગેટીલ હોમ કેથોડ ની 

સા઩ેક્ષ ભા ં  
B. કેથોડ ૅ઩ોઝઝટીલ હોમ એનોડ ની સા઩ેક્ષ ભા ં  

C. એનોડ ઩ોઝઝટીલ હોમ કેથોડ ની 
સા઩ેક્ષ ભા ં  

D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં.  

2. 

પોયલડડ કંડક્ટીંગ વસઝરકોન ડામોડ ભા અંદાજીત લૉલ્ટેજ ડ્રૉ઩  
A. 0.25 V B. 1.0 V 

C. 0.5 V D. 0.7 V 

3. 

ડામોડ ક્રેમ્઩ય ન ુકામડ  
A.  ઇન઩ટૅુ વસગ્નર ના બાગ ને કા઩ળે  B. ઩ોઝઝટીલ કે નેગેટીલ બાગ ને દૂય કયળે.  
C. વસગ્નર ભા AC  લોલ્ટેજ ઉભેયળે D.  વસગ્નર ભા DC લોલ્ટેજ ઉભેયળે 

4. 

એલો કમો ડામોડ કે જેભા તભે યીલસડ ફામસ ફદરો તો તેનો કે઩ેસીટંસ ફદરામ   
A.  ટનર ડામોડ B. લેયેક્ટય ડામોડ 
C. ઝેનય ડામોડ D.  સ્વલઝ િંગ ડામોડ 

5. 

જ્માયે ઇરેક્રોન મકુ્ત ફન્ધ ભાથી કંડક્ળન ફન્ધ ભા જામ ત્માયે શ ુય ામ છે?  
A.  ખારી જગ્મા  B. ગે઩  
C. હોર  D.  શનુ્મ  

6. 

P-type ભટીરયમર અને N-type ભટીરયમર ની લચ્ ે ની જગ્મા ને ....... કહલેામ  
A.  ડામોડ B. રયલસડ ફામસ ડામોડ  
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C. P-N જકંળન  D.  પોયલડૅડ ફામસ ડામોડ 

7. 

LED અને પોટોડામોડ ના વસમ્ફોર  
A.  સયખા ઩ણ પક્ત એયો ની રદળા 

અરગ  
B. સમ્઩ણુડ સયખા  

C. ફન્ને કોઇ ઩ણ યીતે સયખા નથી  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં. 

8. 

ઝિજ યેક્ટીપામય ભા એક સાથે એક ઇન઩ટુ અડધી સામકર ભાટે કેટરા ડામોડ કંડકૅ્ટીંગ હોમ છે?  
A.  એક  B. ત્રણ  
C. ફ ે D.  ફધા જ  

9. 

રપલ્ટય લગય ના ફુર લેલ યેક્ટીપામય ભા રય઩ર પેક્ટય ની રકભત  
A.  0.482 B. 1.21 

C. 0.89 D.  0.26 

10. 

રાસંપોભડય એ  
A.  કયંટ કંરોલ્ડ કયંટ રડલાઇસ છે.  B. કયંટ કંરોલ્ડ લોલ્ટેજ રડલાઇસ છે. 
C. લોલ્ટેજ કંરોલ્ડ કયંટ રડલાઇસ છે. D.  લોલ્ટેજ કંરોલ્ડ લોલ્ટેજ રડલાઇસ છે. 

11. 

ઝેનય ડામોડ ન ે
A.  ઉચ્  પોયલડડ લોલ્ટેજ યેટીંગ હોય ્ B. નેગેટીલ યેસીવટૅંસ હોય ્
C. ઓછા રયલસડ લોલ્ટેજ ભા ળા઩ડ 

િેકડાઉન હોમ છે. 
D.  એ એમ્્રીપામય ભા ઉ઩મોગી છે. 

12. 

સેભીકંડક્ટય ક્યા ફોન્ડ થી ય ામ છે? 
A.  કોલેરન્ટ B. ઈરેક્રોલેરટૅં 
C. કો ઓડીનેટૅ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં. 

13. 

સેભીકંડક્ટય ભા સાભાન્મયીતે ______ લરેેન્સ ઇરકે્રોન હોમ છે. 
A.  ૧  B. ૪  
C. ૩  D.  ૨  

14. 

઩ેંટાલેરટૅં ઇ્મ્યયુીટીભા _______ લેરેન્સ ઇરકે્રોન હોમ છે. 
A.  ૩  B. ૬  
C. ૫  D.  ૭  

15. 

PN જકંળન નો રીકેજ કયંટ ન ુકાયણ  
A.  ભામનોયીટી કેયીમય  B. ભેજોયીટી કેયીમય 
C. જકંળન કે઩ેસીટંસ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં. 

16. 

ઝેનય ડામોડ નો ઉ઩મોગ 
A.  એમ્્રીપામય ભા થાય ્ B. લોલ્ટેજ યેગ્યરુેટૅય ભા થામ 
C. યેક્ટીપામય ભા થાય ્ D.  ભલ્ટીલામિેટય ભા થામ 

17. 

એલી જગ્મા કે જ્મા રાસંપોભડય ની જરુય ઩ડ ે
A.  હાલ્પ લેલ યેક્ટીપામય B. સેંટય ટે઩ ફુર લેલ યેક્ટીપામર્ 
C. ઝિજ યેક્ટીપામર્ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં. 



7/11 

18. 

હાલ્પ લેલ યેક્ટીપામય ની ભહતભ કામડ કામડક્ષભતા 
A.  ૪૦.૬% B. ૮૧.૨% 
C. ૫૦% D.  ૨૫% 

19. 

એવ ુવ઩-એન જકં્ળન કે જે હીટ ના ફદરે રાઇટ એનજી ઉત્સજીત કયે તે 
A.  LED B. પોટો ડામોડ 
C. પોટો સેર D.  ઝેનય ડામોડ 

20. 

પોટો ડામોડ સાભાન્મ યીતે 
A.  પોયલડડ ફામસ  B. યીલસડ ફામસ  
C. પોયલડડ  કે યીલસડ ફામસ નરહ D.  રાઇટ ઉત્સજીત કયે 

21. 

જ્માયે રાઈટ લધે ત્માયે પોટો ડામોડ નો યીલસડ કયંટ  
A.  લધે B. ઘટે 
C. ન ફદરામ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં. 

22. 

રાઝંીવટય ને _______ હોય ્
A.  એક PN જકં્ળન B. ફે PN જકં્ળન 
C. ત્રણ PN જકં્ળન D.   ાય PN જકં્ળન 

23. 

રાઝંીવટય ભા ડે્ રેળન રેમય ની સખં્મા 
A.  ત્રણ  B.  ાય 
C. ફ ે D.  એક  

24. 

PNP રાઝંીવટય ભા કયંટ કેયીમય તયીકે શ ુહોમ? 
A.  એક્સે્ટય આમન ્ B. ડોનય આમન 
C. હોર  D.  ફ્રી ઇરેક્રોન ્

25. 

રાઝંીવટય ના એવભટય   
A.  રાઇટરી ડો઩ડ હોય ્ B. હલેીરી ડો઩ડ 
C. ભોડયેટરી ડો઩ડ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

26. 

રાઝંીવટય ભા  
A.  IC=IE + IB B. IB=IC + IE 

C. IE=IC - IB D.  IE=IC + IB 

27. 

રાઝંીવટય ભા, IC= 100 mA અન ેIE = 100.5 mA. તો β ની રકિંભત 
A.  ૧૦૦  B. ૧૦૦.૫ 
C. ૧ જેટરી D.  ૨૦૦ 

28. 

સૌથી લધ ુઉ઩મોગ ભા આલતી રાઝંીવટય સયં ના  
A.  કોભન એભીટય B. કોભન ફેઝ 
C. કોભન કરેક્ટય  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

29. 

જો  α ની રકભત 0.9  હોમ તો β  ની રકભત  
A.  ૯ B. ૦.૯૯ 
C. ૯૯  D.  ૯૦ 
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30. 

રાઝંીવટય સાથે રહટૅ વસિંક નો ઉ઩મોગ કયલાને રીધ ે
A.  પોયલડડ કયંટ લધે B. પોયલડડ કયંટ ધટે 
C. ડોવ઩િંગ સયખ ુથામ D.  ઉચ્  તા઩ભાન લધાયા ને અટકાલે 

31. 

રાઝંીવટય ફામસ કઈ ળયત યજુ કયે છે?  
A.  DC B. AC 

C. AC અને  DC D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

32. 

DC અને AC રોડ રાઇન નો ઇંટયસેક્ળન ઩ોઇંટ યજુ કયે છે 
A.  ઓ઩યેટીંગ ઩ોઇંટ B. કયંટ ગેઇન ્
C. લોલ્ટેજ ગઇેન  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

33. 

વટેફીરીટી પેક્ટય ની આદળડ રકિંભત 
A.  ૧૦ B. ૧ 
C. ૧૦૦૦ D.  ૧૦૦ 

34. 

રાઝંીવટય ના ઓ઩યેટીંગ ઩ોઇંટ ને _______ ઩ણ કહલેામ 
A.  સ્ક્લળટં ઩ોઇંટૅ B. સેચ્યયેુળન ઩ોઇંટ 
C. કટૅ ઓપ ઩ોઇંટ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

35. 

થભડર યન અલે ઉદબલે કે જ્માયે 
A.  કરેક્ટય રયલસડ ફામસ હોય ્ B. રાઝંીવટય ફામસ ના હોય ્
C. એભીટય પોયલડડ ફામસ હોય ્ D.  જકંળન કે઩ેસીટંસ લધાયે હોય ્

36. 

વસરીકોન રાઝંીવટય એમ્્રીપામય ના મોગ્મ એમ્્રીપીકેળન ભાટે VCE ની રકભત  
A.  ૦.૨ લોલ્ટ B. ૦ લોલ્ટ  
C. ૦.૭ લોલ્ટ થી ઓછી નહી D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

37. 

ભોટા ઩ામા ઩ય ઉ઩મોગ ભા રેલાત ુસેભીકંડક્ટય  
A.  જભેનીમભ B. વસરીકોન 
C. કાફડન ્ D.  સલ્પય 

38. 

સેભીકંડક્ટય ભા સાભાન્મ ઩ણે લેરેન્સ ઈરકે્રોન ની સખં્મા___ હોમ  
A.  ૨ B. ૩ 
C. ૪ D.  ૫  

39. 

જ્માયે શધુ્ધ સેભીકંડક્ટય ભા ઩ેંટાલેરટં અશધુ્ધી ઉભેયલા ભા ંઆલે ત્માયે ફનત ુભટીયીમર 
A.  ઇંવયરુેટય  B. ઇંરીંસીંક સેભીકંડકટય  
C. ઩ી ટાઇ઩ સેભીકંડક્ટય  D.  એન ટાઇ઩ સેભીકંડક્ટય 

40. 

PN જકં્ળન ભા રીકેજ કયંટ ની રકભત _____ ભા હોમ છે.  
A.  A B. uA  

C. kA D.  mA 

41. 

PN જકં્ળન આગ઱ રીકેજ કયંટ ન ુકાયણ  
A.  ભામનોયીટી કેયીમય  B. ભેજોયીટી કેયીમય 
C. જકં્ળન કે઩ેસીટંસ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 
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42. 

PN જકં્ળન પોયલડડ ફામસ હોમ ત્માયે ડે્ રેળન રેમય ની જાડામ 
A.  લધે B. ઘટે 
C. અ ઱ યહ ે D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

43. 

ઇંરીંસીક સેભીકંડક્ટય ભા ફ્રી ઇરેક્રોન ની સખં્મા 
A.  હોર ની સખં્મા જેટરી  B. હોર કયતા લધ ુ
C. હોર કયતા ઓછી D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

44. 

રુભ ના તા઩ભાને ઇંરીંસીક સેભીકંડક્ટય ભા  
A.  પક્ત હોર હોય ્ B. થોડા ઇરકે્રોન અને હોલ ્
C. પક્ત ઇરેક્રોન હોય ્ D.  ઇરેક્રોન અને હોલ ્એક ઩ણ નહી 

45. 

PN જકંળન ના રયલસડ ફામસ ભા તેનો યેસીવટંસ _____ ભા હોય ્
A.  MΩ B. KΩ 

C. Ω D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

46. 

ઝેનય ડામોડ નાળ ઩ાભ ેછે જો તે  
A.  પોયલડડ ફામસ હોમ  B. રયલસડ ફામસ હોમ 
C. વનધારયત કયતા લધ ુકરં્ટ રે D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

47. 

ઝેનય ડામોડ ની વસયીઝ ભા યેસીવટૅંસ જોડલાન ુકાયણ 
A.  ઝેનય ને પ્રોટેક્ટ કયલા B. સયખીયીતે રયલસડ ફામસ કયલા 
C. સયખીયીતે પોયલડડ ફામસ કયલા D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

48. 

ઝેનય ડામોડ ના િેક ડાઉન લોલ્ટેજ  
A.  રપક્સ હોમ B. રપક્સ ના હોમ 
C. ૦ હોમ  D.  અનતં હોમ 

49. 

સેલન સેજભેંટ રડસ્રે ભા ૦ રડસ્રે કયલા ભાટે  
A.  G ઓન હોલો જોઇએ B. F ફન્ધ હોલો જોઇએ 
C. G વસલામ ના ફધા ઓન હોમ  D.  A ઓન હોલો જોઇએ  

50. 

 રાઝંીવટય નો ફઇેઝ  
A.  હલેીરી ડો઩ડ B. ભોડયેટરી ડો઩ડ 
C. રાઇટરી ડો઩ડ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

51. 

રાઝંીવટય નો એભીટય  
A.  હલેીરી ડો઩ડ B. ભોડયેટરી ડો઩ડ 
C. રાઇટરી ડો઩ડ D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

52. 

રાઝંીવટય નો ઇન઩ટુ ઇમ્઩ીડસં ___ હોમ  
A.  લધ ુ B. ઓછો 
C. ખફુ લધ ુ D.  શનુ્મ  

53. 

રાઝંીવટય  ભા α ની રકભત  
A.  ૧ કયતા લધ ુ B. ૧ કયતા ઓછી 
C. ૧  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 
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54. 

રાઝંીવટય નો આઉટ઩ટુ ઇમ્઩ીડસં ___ હોમ 
A.  લધ ુ B. ઓછો 
C. ખફુ લધ ુ D.  શનુ્મ  

55. 

IC= α*IE+…………… 
A.  IB B. ICEO 

C. ICBO D.  βIB 

56. 

રાઝંીવટય  ભા β ની રકભત સાભાન્મ ઩ણે  
A.  ૨૦ થી ૫૦૦ ની લચ્  ે B. ૧૦ થી ઓછી 
C. ૧  D.  ૦  

57. 

IC= βIB+ 

A.  IB B. ICEO 

C. ICBO D.  βIB 

58. 

ICEO=(………) ICBO 
A.  β B. 1+α 

C. 1+β D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

59. 

રાઝંીવટય ભા વસગ્નર રાસંપય થાલા નો ઩ાથ _____ હોમ.  
A.  ઓછા યેસીવટૅંસ થી લધ ુયેસીવટૅંસ B. લધ ુયેસીવટૅંસ થી ઓછા યેસીવટૅંસ 
C. લધ ુયેસીવટૅંસ થી લધ ુયેસીવટૅંસ D.  ઓછા યેસીવટૅંસ થી ઓછા યેસીવટૅંસ 

60. 

રાઝંીવટય ના વસમ્ફોર ભા એયો ની રદળા સ ુલે છે કે  
A.  એભીટય ભા ઇરેક્રોન  કયંટ  B. કરેક્ટય ભા ભા ઇરકે્રોન  કયંટ 
C. એભીટય ભા હોર કયંટ  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

61. 

રાઝંીવટય ભા કરેક્ટય ફેઇઝ જકંળન ને  
A.  ઓછો યેસીવટંસ  B. દયેક લખતે રયલસડ ફામસ  
C. દયેક લખતે પોયલડડ ફામસ  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

62. 

જો એમ્્રીપામય ભા ફામસીંગ ના કયલાભા આલે તો તેના ઩યીણાભ વલરુ઩ે  
A.  ફેઝ કયંટ ઘટે B. એમ્્રીપીકેળન ના થામ  
C. કરેક્ટય ફામસ લધી જામ  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

63. 

રાઝંીવટય ફામસીંગ જનયરી _____ દ્વાયા આ઩લાભા આલે છે.  
A.  ફામસીંગ સયકીટ  B. ફેટયી  
C. ઝેનય  D.  LED 

64. 

લોલ્ટેજ રડલાઇડય ફામસ સયકીટ નો ગેયપામદો એ છે કે તેને 
A.  લધાયે યેસીવટય છે B. ઉચ્  વટેફીરીટી છે.  
C. ફેઝ કયંટ ઓછો છે  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

65. 

જભેવનમભ રાઝંીવટય એમ્્રીપામય ના મોગ્મ એમ્્રીપીકેળન ભાટે VCE ની રકભત 
A.  ૦ લોલ્ટ B. ૦.૨ લોલ્ટ 
C. ૦.૭ લોલ્ટ થી ઓછી નહી D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

66. જો તા઩ભાન લધે તો ની VBE રકભત  
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A.  લધે  B. ઘટે  
C. એજ યહ ે D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

67. 

VBE રકભત 
A.  IC  ઩ય આધાય યાખે ભોડયેટ 

યાખલા ભાટે  
B. ભહત્તભ ઩ણે IC ઩ય આધાય યાખે.  

C. સમ્઩ણુ ઩ણે IC  ઩ય આધારયત D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

68. 

પ્રેક્ટીકર ફામવસિંગ સયકીટ ભા RE ની રકભત  
A.  800Ω B. 1M Ω 

C. 10K Ω D.  100K Ω 

69. 

રાઝંીવટય ________ ઓ઩યેટેડ રડલાઇસ છે.  
A.  કયંટ  B. લોલ્ટેજ  
C. કયંટ અને લોલ્ટેજ ફને્ન  D.  ઉ઩ય ના ભાથી એક ઩ણ નહીં 

70. 

NPN રાઝંીવટય ભા ભાઇનોયીટી કેયીમય તયેકે ____ હોમ  
A.  ઇરેક્રોન  B. હોર  
C. ડોનય આમન  D.  સ્વલક્રુત આમન  

 

************** 


